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ITA Controlled English

ITA Controlled English is a Controlled Natural Language:
e subset of English understandable by man and machine
e based on a user's conceptual model of terms and logic
e facts for information, and rules for logical inference
e assumptions for expressing uncertainty and "what-if"

e rationale to represent and visualize the user's reasoning

Fact extraction and reasoning
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NLP with DELPH-IN and ITA CE
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has as first argument x7

the mrs elementary predication #ep2 has the agent Lion

as first domain argument
if { the mrs elementary predication P

( there is an mrs elementary predication named P that is an instance of the mrs predicate MRS and
has the situation S as zeroth domain argument) and has the normal situation S as zeroth domain argument and
{ it is false that the mrs elementary predication P is a marked elementary predication ) has the thing T1 as first domain argument ) and
then { it is false that the mrs elementary predication P
( the situation 5 is a normal situation ). N has the thing X as second domain argument ) and
[ the mrs predicate MRS expresses the entity concept EC )
then

{ the thing T1 realises the entity concept EC ).
/ the agent Lion is a involved thing ‘
if ( there is an agent named A that is an involved thing )

then
( the agent A is a participant ).

¥

the agent Lion is a participant.

the mrs predicate ' _involved a 1 rel' expresses
the entity concept ‘involved thing'.

Domain Knowledge for reasoning

conceptualise a ™ dignitary ™ D that is a person and if
~ is an official of ™ the country C and
~is located in ™ the place P.

( the operative A operates in the time interval TA ) and

( the group B operates in the time interval TB ) and

( the time interval TA does not overlap the time interval TB )
then

( the operative A cannot work with the group B ).

there is a dignitary named ‘J Smith’ that is an official
of the country Epsilonland and is located in the
country Psiland.

if if
( there is a dignitary named D that ( there is an agent named Lion ) and
is an official of the country HOMEC and ( the agent A is different to the agent Azuregroup and
is located in the country HOSTC ) and is different to the agent Browngroup and
( the country HOMEC # the country HOSTC) is different to the agent Violetgroup )
then then
( the dignitary D is visiting the country HOSTC ). ( the agent Lion cannot work with the agent A ).

Meta-logic for generalisation

symmetric relation
[4+]
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‘is married to’

conceptualise
a ~ symmetric relation ¥ R
that is a relation concept.

APPLYRULE

if
If(the person P1 is married to the person P2 ) (there is a symmetric relation named RC that
| GEN ERAL|5:|> has the sequence (the thing P1, and the thing P2)

then as realisation )
(the person P2 is married to the person P1). then

(the symmetric relation RC
has the sequence ( the thing P2, and the thing P1)
as realisation ).

Assumptions for disambiguation

the engineer drove the tank

Truth box assuming water tank Universal truth box Truth box assuming military tank

the word “drive”
expresses the concept
‘drive situation’.

|

the drive situation e3 has
the thing x9 as second role

|

the thing x3 drives
the vehicle x9

it is assumed that the word
“tank” expresses the
concept ‘military tank’.

Y |
e thingx3is a v the thing x9 is a
water tank. the thing x9 is a vehicle.

military tank.

S

Inconsistent

This assumption is wrong
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